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09132100 PLught wptdhnul QL thunp 7 310 000
09134200 “Hhqbijwjhu Jwnbhp < thuip 200 430 86 000
09211100 Cwndhsh jnin uu lhup 200 2500 500 000
30197622 (Ininp A4 L hwuwn 900 1600 1 440 000
30141200 Lwidhs L hwuwn 12 2 500 30 000
30192100 NGwhu Fe hwuwn 70 100 7 000
30192114 Yuhph pwuwp b hwuwn 10 250 2 500
30192121 Sunhlwdnp gphs o hwuwn 400 100 40 000
30192125 Uwplbp gniuwynp 2 hwun 60 250 15 000
30192125 - Uwplybp gpuunwfunwlyh (ul, Ywpdhp, gniuwynp) 9L hwun 20 380 - 7 600
30192125 Uwpytip ul (nhuyh Jpw qpkijni) < hwun 10 450 4500




Uwplbip wtpdwublwn, Yinpugdws dwiptipny (ul,

30192125 Q< hwun 10 250 2500
Ywpdhp, utws, Yuwwnyw)
30192160 Cuphfu (ninnhs gphs 84)) QL hwwn 60 250 15 000
30192210 Mnihdbpwihtu hupuwlwsniu dwwwybl' 48dix100dd ac A 40 400 16 000
nunbuwlwl, Jbs
30192220 Mnihdbpwht hupuwlusnit dwwwybt' 19ddx364d ac il 30 100 3000
gpwubtywlwiht, thnpp
30192230 Epyynndwuh dwwwytu L hwuwn 20 250 5000
30192710 Unuhud snp 15q < hwun 50 280 14 000
24911300 Unuhtd hbnndy Q< Lwtn 30 150 4 500
24911200 Unuhtd Ednyuhw 120q QL hwun 10 200 2 000
30192740 fdnine gniuiwynp A4 9 wnintth 30 1500 45000
30192133 Uphs dbinwnw a< hwun 60 320 19 200
30192780 Eowpwdwuhs A4 1-10 < hwuwn 10 700 7 000
30196100 Pinjunwn <L hwuwn 100 200 20 000
30197100 Ywphsh denwnwiwpb Yuwwtip 24/6 QL wintth 50 250 12 500
30197100 Ywphsh dEnwnuiwpt Yuwbp N 10 q< wintth 50 120 6 000
30197100 Ywphsh dbnwnuiwpb Yuwbp 26/6 q9a wnintth 50 250 12 500
30197120 Ynbqwd 94 wnnuth 30 250 7 500
39263400 Udpwy (gniuwynp) < wnintth 30 280 8 400
39263410 Udpwy thnpp QL wnnuh 20 30 600
39263410 Udpwy i wninuh 20 35 700
39263410 Udpwl i nnuth 20 60 1200
39263400 Udpwl (dGnwnju) <L wnintth 20 120 2 400
39263400 Udpwl (Jbunwnjw) < wnintth 20 130 2 600
30197230 fInpwwwlwl (ywuwnhl, YnEquiny) < hwwn 60 400 24 000
30197230 (npwwwuwl A4, Ynnuyht ntightiutbipny 92 hwun 50 400 20 000
30197231 Mnhdbpwht pwnwupe ($uwy) 100 hwwn 60 shypnu 9 nnuth 60 1600 96 000
30197233 [Anpwwwiwl (unjwpwpnpel, Yuwutpny) <L hwun 450 70 31500
30197323 Ywphs' hwuwnnly 9L hwn 1 15 000 15 000
30197332 “Twyhg < hwun 20 1100 22 000
30197340 Uwwlwphs AL hwwn 20 310 6 200
30197622 (Ininp A4 9L wninuh 790 2 000 1 580 000
30197646 [aninp A3 R wninith 30 4 000 120 000
30199230 Opwp 115X225d04 94 wnnuh 30 750 22 500
30199230 Opwp 254X1764d 9< wnnuth 30 1250 37 500
30199230 Opwp 235X1654d i wnnuh 10 1800 18 000




30199230 Opwp 102X764d L wnintth 5 500 2500
30199232 Opwp 324X22944 e wnnuth 5 2 500 12 500
hupuwunutdynn pnu wubtywlwiht uyhwnwly A4
30199410 P plj d[}nr:) qw”fs"'gwuh $7>?57J.h7 o d“‘h . Q< hwwn 50 70 3500
30199420 ULonuiubiph pnine sunutidynn 90X904y < nnuh/1000pbNR 20 1650 33 000
30199430 Lonuwdubiph pnine (Yusniu) 76X7644 <L wnnuh/100pLEPR 50 250 12 500
30199792 Ubkinwuh opwgnyg e hwn 65 850 55 250
30200000 Cwdwlwpgswiht nbfuthlw b odwunwy Yynyekp 9 npwd 1 5000 000
30190000 Spwubywlywiht uwppwynpnudubp uu npwd 1 950 000
39513200 Uudbinnghly L hwwn 350 140 49 000
33761400 Uusdbtinnghly Q< hwuwn 30 350 10 500
18141100/1 Suwnbuwlw dkinung uu qnyq 50 300 15 000
18141100/2 Ugfuwwnwupwjht dtinung Yuinphg uu qnyq 30 270 8100
18141100/3 Mttwnhub dbnung uu qnyq 40 400 16 000
39836000/1 Ugb 5 hwwn 30 800 24 000
19641000/1 Unph wninwypwl (J6s) 120 Q< hwn 200 150 30 000
19641000/2 Unph winypwl wnihtehibuwht 35). qC hwuwn 1600 20 32 000
31442000/1 Uwpunlyng uu hwwn 50 100 5000
31441000/2 Uwpwnlng uu hwun 100 120 12 000
33761000 Rniqupwuh pnine nhuwbuubph hwdwp 9 wintth 20 10000 200 000
33761100 2niqupwuh pnine Q< hwwn 400 200 80 000
39831276 dwyb| 5 mwpwyny < hwn 40 600 24 000
39831247 Uhunwhwunn Uynip qC hwn 50 500 25 000
39831276 Uhunwhwudw dheong Qe hwwn 50 450 22 500
39831245 dtinph htinnily o6wn <L hwun 20 500 10 000
39831246 <bnniy obwn 5| nmwpwyny b hwn 10 2000 20 000
31531220 Lwduy 2004 < hwwn 50 200 10 000
31531220 Lwdu 1004 < hwuwn 100 150 15 000
31531220 Lwdy 604 Q< hwwn 100 100 10 000
39831283 Lwwnwlh onp Q< hwuwn 70 700 49 000
39831282 Utinwuh onp upphshg S hwuwn 70 300 21 000
31685000 Gpywpwgdwl wp 100 Q< hwwn 5 2600 13 000
31685000 Gpywpwgdwl jwp 50 Q< hwuwn 10 1500 15 000
39812410 Ywhnyph thw)tigdwu dhong QL hwuwn 20 700 14 000
39221490 Uwniug <L hwuwn 60 120 7 200
39831243 Lywgph thnh (wydwindwwn), gniuwynp < hwn 70 450 31 500
39831243 Lywgph thnoh (wywnndwwn), uwghunwl A hwuwn 30 450 13 500




]
39831241 Atinph ofwn Yuinputipny : Q< hwn 100 150 15 000
39812600 Uwuhwugnygh fugwlnuubn dwppnn thnoh L hwwn 50 200 10 000
39831100/1 Uwwup |qwtiwine htinniy 5004; 9< hwwn 10 400 4 000
39831100/2 Uwwup (Jwlwnt hbinniy 5 tnwpwjny <L hwwn 10 1300 13 000
39831280 Uwwyh dwppnn htinniy 5004; < hwuwn 20 350 7 000
| 31211400 Utwinhg Q< hwwn 30 450 13 500
31684100 Ywpnwy dhinbnwh ubipphu Q< hwuwn 20 450 9 000
31531300 Lnwwnhnnwjht jwdy < hwwn 150 2000 300 000
31531300 Eyntund jwdy - 85w 9 hwwn 25 2200 55 000
39224331 nny| 94 hwuwn 10 800 8 000
39514200 upphs Q< hwwn 50 400 20 000
39831100 Lywgnn Wniplip (gnpgliph hwdwp) < hwun 50 550 27 500
39221430 |Uwwlhubiph dwppdwt hwdwp &nn nbightnd b uyntugny] QL hwwn 5 1600 8 000
39221420/1 funqutwy wnwuwnwnh QL hwwn 5 4500 22 500
31221180 Ynpwn i hwwn 50 200 10 000
31681600/1 Uwwhnyhg QL hwwn 20 1200 24 000
31681600/2 Uwywhnyhg 9L hwn 30 1800 54 000
31681600/3 Uwywhnyhs Q< hwwn 10 1000 10 000
39836000/2 Uyt Gphwp thwjinhg dnnny QL hwn 20 3000 60 000
31331280 ElGYwnpwlwl hwnnpnwjwn 2 X 2.5 < d 100 240 24 000
31331270 ElGYywnpwlwl hwnnpnwiwnp 2 X 1.5 Q< d 50 170 8 500
31321190 Eleyunpwlwl hwnnpnuwwp 2 X 4 e o d 100 420 42 000
31321200 ElGyunpwlwl hwnnpnwjwp 2 X 6 wnhud QL d 50 600 30 000
39221420/2 Yngin lunquiwl gnpg dwppbiint hwdwp QL hwn 10 1500 15000
39811300 onwpwndwgnighy S hwun 50 550 27500
39241140 Fpwublywluiht nwwl 6§ uu hwwn 30 400 12 000
39241140 Fpwubilywlwiht nwwl thnpp uu hwwn 2D 200 5000
39241210 Ulpwwn uu hwuwn 20 700 14 000
39263500 Ubindwy uli 5144 uu wnntth 10 800 8 000
39263500 Utindwl ul 3244 uu wnntth 20 370 7 400
39263500 Ubindwy ul 2544 uu wnnth 20 280 5600
39263500 Ubindwl ul 1944 uu wnntth 15 200 3 000
39263500 Ubindwl ult 1544 uu wintth 20 150 3 000
39292500 Lwunu pwthwughl uu hwwn 10 70 700
39292530 Lwunu dbunwnw uu hwn 20 250 5000
34331300 Uywnndbiptuwubiph wywhbuwnwd ubip ‘ ‘ 2 000 000




45461100

Chupbiph L Ywnnygubiph Pupwghl Unpngnu L wWwhwwunw

4 500 000

50111130 Udwindbptuwubpph Ybpwunpnquw U Wwhwwudwu 2 000 000 °
Swnwjnipyniutibn
65311100 £l Eubpghw uu npwyd 1 17 000 000
65211100 Puwlwl qugq uu npwd 1 26 000 000
64211100 Ywuh Swnwjnyejniu uu npwy 1 6 500 000
64211130 Poowjh hhnwlunuwl{wu{ uu npwd i1 500 000
65111100 Nnnquwl, fudtint onin uu npwd 1 2 500 000
90511100 Unpwhwlnieniy uu npwy 1 500 000
90671100 Hinwinhquighw uu npwd 1 60 000
!:2411100 Cwlwguwtgwiht Swnwjnipjniitibp uu npwy 1 950 000
66511180 qundhpbhw'ubnh wwwhnywqgpnypjnit uu npwd 1 327 000
60411200 Upunwuwhdwtywl gnpdninnidubip /wdhwunndutip/ uu npwd 1 2 658 000
79111200 LbpYuywgnigswlwt Swiuubip uu npwy 1 6 000 000
50311120 Cwdwlwnpgswihl dwnwinip)niiibin uu npwy 1 950 000
66111200 Inpdwnbwluwl b Pwlyuwht éwnwjmpjm'uhbn uu npwd 1 300 000
64111200 Uniphwunwlwht b thnuwnwyht Swnwjnipiniu uu npwy 1 250 000
92411100 9tnrtinh L wywannlulyuwts nbintywqntnh Q< s 1 2488 640
Pwdwunpnwgp, Swnwjnipynily
79961130 Gyt nugughn Unietinh fouwlwguul Q¢ G 1 3000 000
Swnwjnip)niu J
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